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QUESTION 1

What is a key security differentiator of z/OS compared to distributed server operating systems?
A. z/OS provides a role based access method.

B. z/OS utilizes LDAP to provide an end-to-end security context.

C. Applications run in enclaves which provide security by isolation.

D. z/OS utilizes SAF products like RACF to provide end to end security context

Correct Answer: D

QUESTION 2

A prospective zEnterprise customer is fascinated with the addition of the zBX products. The sales specialist is
discussing the flexibility of System z family of servers. Which of the following is a key aspect?

A. Binary compatibility between servers

B. Hot pluggable processor and memory boards
C. Consistent CoD features with entire family

D. Ability to interchange features between systems

Correct Answer: A

QUESTION 3

A customer has a very large z196 Complex with 8 CEC in a Sysplex. The customer would like IBM to perform a study to
help move to the latestA customer has a very large z196 Complex with 8 CEC? in a Sysplex. The customer would like
IBM to perform a study to help move to the latest Infiniband 12X Links.

Which of the following is the correct tool to provide this?

A. BWA

B. CF Sizer

C.zTPM

D. zCP3000

Correct Answer: D
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QUESTION 4

Which of the following includes major components needed to place an IBM zEnterprise into a Parallel Sysplex clustered
environment?

A. A coupling facility, two z/OS patrtitions, STP and coupling links

B. A coupling director, a zZ/OS and a VSE partition, STP and coupling links

C. A coupling director, a z/OS partition, a zBX, STP and coupling connectors

D. A coupling facility, a z/OS and an AlX partition, STP and coupling connectors

Correct Answer: A

QUESTION 5

Which of the following is a key benefit to customers who deploy zEnterprise compared to other solutions?
A. A hypervisor infrastructure that allows movement of an application online between different architectures
B. A hypervisor and hardware management across multiple platforms.

C. A management solution that provides support across multiple x86 hypervisors.

D. A management solution for the complete mulit-vendor infrastructure within a datacenter.

Correct Answer: B
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